Best model for HELP J022002.281-035121.442 at z = 1.503 x2=1.01
OPTx?=1.11 IRx?=1.04 threshold (OPT IR)=20.02 [um]

102
Stellar attenuated
1 Stellar unattenuated
101 - 5.%] —— Dust em‘iss‘ion
E —— AGN emission
] = Model spectrum
100 4 ® Model fluxes
E M oObserved fluxes
z 10—1 -
E. ] sl
< -2 _-YL:".‘\.“"‘"‘"\rrr“'
3 107- 4
[N
10—3 4
10—4 4
_50_5 E
Y 1 3
= ] ==f=(Obs-Mod)/Obs
3 ]
o 1 /'
s ]
] o u 7— ———————————————————
o ]
) ]
2 ]
S ]
o -1 —  CIGALE
]
[a'd

10° 10! 102 103 104 10° A
Observed wavelength [um]



